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JHOMETPUHECKNX
YTOJIbHOIO TPEeyroJyibHUKa F

Sin A= =< Sin C=

Cos A=£
AC

Co:¢

tg A=% tg (




Hyca, TaHreHca yr

B . BCD:

C sin a = CD/BD

cos a = BC/BD
tg a = CD/BC

B . BAD:
sin a = BA/BD
cos a = AD/BD
tg a = BA/AD
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LWNTEe 3HAYEHUS
MHyCa, TAHreHCca yrna ¢

B . BCA:
sin a = AB/AC
cos a = BC/AC
tg a = AB/BC

B . BCD:
Q sin a = BD/BC
/ cos a = DC/BC
C tg a = BD/DC




3HA4YeHwus
AHYCa, TaHreHca yrre

B . FKD:
sin a = KD/FK
cos a = FD/FK
tg a = KD/FD

B . FKC:
sin a = KC/FC
cos a = FK/FC
tg a = KC/FK

A\

>




sin?a + cos?
[loka3aTtenbCTBO:

AB _ BC*AC _ BC

AC AC AC*AB AB

AB2 BC2+AB? AC?
*AC:T Az ace




N° 591 ( d ) NaHo:~ ABC (/_ C- npamon )

A

17

BC=8, AB=17
Hauntu: sin A, cos A, tg A,
sin B, cos B, tg B.

PelueHune:
1)Mo Teopeme lNudparopa:
AC? + CB? =AB?
AC =15
2) sin A=8/17 sin B = 15227

cos A=15/17 cos B = 8/

tg A=8/15 tgB=15/8




